The (2) 12's  and (1) of the (4) 11's from 91 grew through to be  the( 3) 13's in 2002, leaving (3) of the (4) 11's from 91 to grow through to be the (3) 12's in 2002. The (1) 10  and (1) of the (3) 9's from 1991 grew through to be  the (2) 11's in 2002,leaving (2) 9's from 91. The (2) remaining 9's from 91 and (1) of the (5) 8's in 91 grew through to be the (3) 10's of 2002, leaving (4) 8's from 91. The remaining (4) 8's from 91 grew through to be the (4) 9's of 2002. (3) of the (4) 7's from 91 grew through to be the (3) 8's of 2002, leaving (1) 7 from 91. The remaining (1) 7 from 91, stayed ( did not grow, was mismeasured, near death ,etc..) the same size class to be (1) of the (4) 7's in 2002. Now, still needing (3)  more stems to make up the total of (4) 7's in 2002, the (3) 6's from 91 grew through. (8) of the (9) 5's in 91 grew through to be the (8) 6's in 2002, leaving (1) 5 from 91. The remaing (1) 5 from 91 stayed the same and ( since we have stem counts for below size classes below 5"), (3) of the 4's from 91 and (1) of the (10) 3's frm 91 grew through to be  the remaining (4) of the (5) 5's in 2002.  
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